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Using Arrays
using Systen;

namespace CitiesArray

{

class Program
{
ztatic void Main(string[] args)
INote A
7720 array is recognised by square brackets so, the array
//cleanestCities[] is declared. It has 5 elements but they are
/7zero based so they start at cleanestCities[0].
string[] cleanestCities = new string[5];//Array with 5 elements
string cityToCheck
int numElements = o
Boolean matchFound

false;

Console.uriteLine("Input the name of a city to see if it is one of the WHO
cleanest cities in the world");
cityTocheck = Console.ReadLine();

//Five cities are assigned to the 5 elements.
cleanestCities[0]

CleanestCities[1] =
CleanestCities[2]
CleanestCities[3]
CleanestCities[4]

nunElenents

leanestCities. Length;//Uses -Length method

for (var 1

{

1< nunElements; i+4)

if (cityTocheck

cleanestCities[i])

matchFound = true;//Sets flag to true
Console.kriteLine("Tt's one of the cleanest cities")
Console.ReadLine();
break; //Breaks out of the loop if a match is found
}/end if
}//nd For

//Displays message if matchFound flag is false

if (matchFound == false)
{
Console.uriteLine("Its not on the list!");
Console.ReadLine();
¥




